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Math 103-001 Winter 2015

Quiz #2

1. Evaluate each limit. If a limit does not exist, evaluate both one sided limits separately.
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3. An open rectangular box has a square base and no lid. It must contain a volume of 14 m’.

We wish to find the amount of material required to build this box, i.e. itsurface area.
[7 marks]

a) Express the surface area A as a function of the box’s width x, i.e. find A(x). Show all
steps and include a sketch of the box.
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b) Due to other considerations, you can either build a box that has width 2m, a box that
has width 2.5m, or a box that has width 3m. Of these three options, which is the
most economical design in terms of material used? ¢ive  fdvbe o\mc;ww,/j)
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